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If the ASCII code for “E” is 1000101, then the ASCII code for “e” is (A) 1000110, (B)
1000111, (C) 0000110, (D) 1100101,
When a fraction is normalized, there is a to the left of the decimal point. (A) 0
bit, (B) 1 bit, (C) random bit sequence, (D) A or B.
The layer of TCP/IP has functions similar to those of the application, presentation,
and session layers of the OSI model. (A) transport, (B) network, (C) application, (D)
session.

can occur if a process has too many resource restrictions. (A) Starvation, (B)
Synchronization, (C) Paging, (D) Deadlock.
The job scheduler and the process scheduler are under the control of the
manager. (A) job, (B) queue, (C) device, (D) file.
An operating system program called the gets the program into memory. (A)
loader, (B) linker, (C) translator, (D) processor.
Accuracy, efficiency, reliability, security, timeliness, and usability are factors important to
the of software. (A) operability, (B) modularity, (C) transferability, (D)
longevity.
In the system development process, the structure chart is a tool used in the
phase. (A) analysis, (B) design, (C) implementation, (D) testing,

are keys that hash to the same location in the data file. (A) Collisions, (B)

Buckets, (C) Synonyms, (D) Linked lists.
In the collision resolution method, both the prime area and the overflow area are
store data. (A) open addressing, (B) linked list, (C) bucket hashing, (D) A and A.
In a three-level DBMS architecture, the level determines where data are

actually stored on the storage device. (A) external, (B) conceptual, (C) internal, (D)
physical.

In encoding, PPPPPPPPPPPPPP can be replaced by P15. (A) Huffman, (B)
run-length, (C) LZ, (D) all of the above.

For SORT, n-1 passes are needed to sort the data. (A) selection, (B) bubble, (C)
insertion, (D) quick.

For SORT, two loops are needed. (A) selection, (B) bubble, (C) insertion, (D)
quick. '

If the complexity is O(n!) is 24, then the number of input is . (A) one, (B) two,

(C) three, (D) four.
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1.16 The complexity is O(log*10 n) and the computer executes 1 million instructions per
second. How long does it take to run the program if the number of inputs is 10,000. (A)
microsecons, (B) 2 microseconds, (C) 3 microseconds, (D) 4 microseconds.

1.17 For an 8-bit allocation, the largest decimal number that can be represented in two’s
complement form is .(A) 8, (B) 127, (C) 128, (D) 256.

1.18 If the memory address space is 16MB and the word size is 8 bits, then bits are
needed to access each word. (A) 8, (B) 16, (C) 24, (D) 32.

1.19 A binary tree has a height of 5. What is the minimum number of nodes ? (A) 31, (B) 15,
(C)s, (D) 1.

1.20 If there are 16 nodes to be stored in a binary tree, the minimum height of the tree is

.(A)16,(B)S5,(C)4,(D) 1.
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4.2 Mobile Computing

4.3 Bioinformatics




